




A	
  candy	
  store	
  sells	
  boxes	
  of	
  candy	
  containing	
  caramels	
  and	
  crèmes.	
  Each	
  box	
  sells	
  for	
  $12.50	
  
and	
  holds	
  30	
  pieces	
  of	
  candy	
  (all	
  pieces	
  are	
  the	
  same	
  size).	
  If	
  the	
  caramels	
  cost	
  $0.25	
  to	
  produce	
  
and	
  the	
  crèmes	
  cost	
  $0.45	
  to	
  produce,	
  how	
  many	
  of	
  each	
  should	
  be	
  in	
  a	
  box	
  to	
  make	
  a	
  profit	
  of	
  
$3?	
  
	
  
30	
  =	
  total	
  number	
  of	
  candies	
  in	
  box	
  
X	
  =	
  number	
  of	
  caramels	
  
Y	
  =	
  number	
  of	
  cremes	
  
.25	
  =	
  cost	
  to	
  produce	
  and	
  the	
  caramels	
  
.45	
  =	
  cost	
  to	
  produce	
  and	
  the	
  crèmes	
  	
  
9.50	
  =	
  cost	
  to	
  produce	
  box	
  (since	
  were	
  MAKING	
  $3	
  profit)	
  
	
  
	
  	
  	
  	
  	
  X	
  +	
  	
  	
  	
  	
  	
  Y	
  =	
  30	
  
.25x	
  +	
  .45Y	
  =	
  9.50	
  
	
  
-­‐.25	
  X	
  -­‐.25Y	
  =	
  -­‐7.50	
  
.25x	
  +	
  .45Y	
  =	
  	
  	
  9.50	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  .20Y	
  =	
  2.00	
  

	
   	
  Y	
  =	
  10	
  and	
  X	
  =	
  20	
  




